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T'his leads to wide pulls In

vertex-fit curvature.
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What about slope & phi”
Slope looks ok (but pull o ~ 2)
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These all look reasonable, but the
pull width i1s ~ 2 even at track level
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Seem SuSpicious
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Note that these ¢ are all calculated at different places:

MC: A decay
track fit: DOCA
unc. vertex fit; @vertex

= 0.01

What about slope & phi”? Phi generally
looks screwy, but yes vertex fit errors
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Ideally, these are all the same place! But measurement

errors (in Z vertex e.q.) can lead to funny behavior here 202
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